41.

ZOOLOGY
Statement (S) : Populations of a species inhabiting different geographical &

are in a continuous process of adaptation to thair s
Reason (R) : Geographical barriers obstruct interbreadi
new species.

(1) Both (8) and (R) are not true
(2)  Only (S) is true but not (R)

(3) Both (S) and (R) are true but (R N (S
‘f (4}  Both (S) and (R) are true and (R) i explanation to (S)
cgwg O : 08 G698 (Foer 8 e 5288 J068 srgren,

mdmo (R) : G608 oS5, .y =88 aaﬂn#. ered, woly [Sedaray
D, SEGENS Store DILE DEHED, 578 =8 wDonys

(3) (|(8) shoawe @Eamﬁn SOGREA =0 (8) K (R) S0y 20w sk

9) | (8) 00 (R ot 50850 $0%s (5) % (R) S0 256w 8508




42.  Which of the following statements are correct with regard to Deuterostomes T
(a) The blastopore develops into anus in adult
(6) The blastopore develops into mouth in adult
(¢) Cleavage is radial and indeterminate
(d) Cleavage is spiral and determinate
(1) (a) and (c) ~(2) (a) and (b)
(3 (b) and (d) (4) (b) and ()

Eg8F* Rt snes Sowofod o (808 +E° [oAE &
(@ @rd dpes® =6 so@toFsn (wRFR%6)
b) & dHos® wb woF Sosy Swoe
(c) Falat - fufit ﬂg%}ﬂg' SaB o aﬂu;&é asga
d) D&¥ssn SGHe Hdaw VEiE SEBET wHHS
(1) (@) $805 @) (2) (4)%8 '

(3) (b) bt (d) (4) (bh )

43. Choose the animal which exhibits ing
(@) Marine habitat
() Bilateral symmetry with
(e) Haemocoel as principal
(d) Eyes similar to that of v
(1)  Jelly fish
(3)
S
(a)
(b)
)
(el) imgsne FBavech oot

| (=g 35 V2 588 s

' 4 a=bh 93
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44.  Which of the following is the correct sequence of cell cycle ?
% 808 I#DE° D8 FaSE FHSET 58 w5a?
The correct answer is :
B0 wond SargesSn:
(1) G]—J}G'g-_yﬂ_pM [E}E—}M-—}GE—}GI
V(3 G‘I—}S-L}GZ—';M (4) M—}S—:Gg-—}ﬂl TN

45. Match the types of animal tissues given under List T wi
which they oceur, given under List II :

List 1
(Tissue)
(A)  Squamous epithelium (I
(B) Hpyaline cartilage (II)
(C) Adipose tissue (TII) Iris

(D)  Smooth muscle

in

1808 sdeeds w=Bec I &%) 228 modh Fhsmvodves: ebes I &° ae&.nﬁﬁ

griidvenieddaros8” adShsia
mohae 1
(Eesmeeo)

(A) fore assy

! aﬂmﬁﬁ’ai:ad:e:.":a

)

(IV) (1) (TIT)
~)(3} 1) (I) Q (Iv) (IT)
(4) (I) (1)
il :
Rou k

22 S
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48, The fusion of pronuclei of dissimilar gametes is called :

(1) Syngamy \42} Anisogamy ’
(3) Isogamy (4) Hologamy

grd Ey¥ge B Tod |28 05800 (Bmsore) Sooniidh aor ®olredH

(1) Sorred (2) esHdoddmiio

(3) HbFodimiio (4) &

49. The process by which a new structure is formed in the tissue of the host 'lurmg

parasitic infection :

(1) Hyperplasia ~/{2} Neoplasia
(3)  Hypertrophy (4) Gigantism
of Stedgy 20 JoFShman Joi w8Fon Feareod® oy ;ja & Rogmo AKE
S5H88
(1) pesbrbape o) pamztos
@) ers56th 4) ©dTdns
50. Match the following :
Parasite Infective Stage Disease Caused
(A) Plasmodium vivax (I) 3rd stagelarva  (a) Filariasis
(B) Taenia solium (II) Cystic stage (b) Benign tertian
(C) Entamoeba histolytica (III) Sporozoite malaria
(D) Wuchereria bancrofti ~ {IV) Cysticercus (¢) Amoebic dysentery
(d) Taeniasis
Bof SO0 eEShan
Eu-:'aiﬁ SroEtey &Y Sogdod agd
(A) >R%8ane I8y () 35 &% ovog (@) PBOAERDD
B) dparRtochS (I0) 6°% &% ®) B35 BOHS
(€ oowdwe FRede (1) ¥%6°=and HBOae mgdn
(D) a&doote wroEd (IV) H& RG-S () =0E Soeen
; (d) Sdasrehs
The correct match is—
58 wond md:
\/ (14 A(ID ) BIV) (d) C(IT) (e) IXT) (a)
(@) | A(IID) (b) /- B(V) (d) CI ) | DD (a)
(3) | A(IV) (@)  B(I) (d) C(D (b) D(III) (c)
(4) A (/) BAV) (@  CO (a) IXII) (c)
Rough Work
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51. In pheretima, septa are absent between some of the segments. They are :
208506 7Ry wpoleto Mgy Agreston @odd wD:
The correct answer is :
358 mond Jdamgrdain:
12 9 10 ; [l s [
B pren v 33310
4 9 10 14 12810
Ak BEIRIT 15 N T
52. In pheretima, the open type of nephridia are located in’ these segments :
(1)  4th, 5th and 6th (2) 2nd to the last
\/[3) 16th to the last (4) Tth, 9th and 13th
208506° DIYE SyE o e polerod® @ofkh
(1) 4,5 &Hbatn 6 (2) 2 08 DI0STH
(3) 16 o8 DSBSTS (4) 7.9 ehBcn 13
53. The cells, present in the fat bodies of cockroach, which centain symbiotic bacteria
that synthesize amino acids are :
(1) Trophocytes \/::2} Mycetdeytes
(3) Oenocytes 4) Urate cells
5°8086° (Fay dafe dHow, o edry Soidelh @SErSSd, S&
S5% erlbateesods Seoen :
(1) ﬁ‘ué*?_mg 42} SHE D :
(3) &S P (4) fsds Saves »
54. In cockroach, the thermoreceptor sensilla are present on :

(1) Antenna, maxillary and labjal palps
(2) Labrum, maxillary and labial palps

Vi3 First, second and third tarsomeres of tarsus

(4) Anal cerci and pedicel of antennae

678086 ad (¥ Dnere 60D @osrow !

(1) | &) Fyorres, wmobes Hbol o58 o Horw
(2) | Lo, sobgr Hba ©&8 dHE FHorew

JB) | erey56® Shud, vodk, Swd eEhDohbes

(4) | Seonirorres HOMD STy o 246

Rough Work

25 S



A AM 2010 A

55. Statement (S) : Biting and chewing mouth parts are the most primitive type
of mouth parts in insects.
Reason (R) : Holometabolus insects have biting and chewing typﬁ of meuth
parts in their larvae.

V1)  Both (S) and (R) are correct and (R) is the correct explanation' of (8)
(2)  Both (8) and (R) are correct and (R) is not the correct @xplanation of (S)
(3) (8) is correct but (R) is wrong
(4) (8) is wrong but (R) is correct
agpg (S) : Busead® 5788 S8 08 S°¢ proredl /edSEEnw
s&wmo (R) : Soseg s fcd Wod dwsre BSofews®, 5708 ST

e S°E  wrearesomrow

V1) (S) Sbass (R) Dotk $06:8D H00w (515 (R) $8eks 986
(2) (8) s0ae (R) Sodo 555::?::-531 SHdos [(B) 5 AR) ."55\‘13.:65 Q&b e
3 (8 seawsa, =R (R) wﬂﬁ:lﬁﬁ Fedh
(4) (8) S8chse ==&, =0 (R) SODLIS

56. Which one of the following arthropods is viviparous ?

(1) Palaemon ' (2) | Palamnaeus
(3) Pediculus (4). Periplaneta
e 1808 &i@ﬂi}‘uﬁ dshod® 26 %‘a’a\*u\mﬁ‘ﬁﬁn?
1) >DsrE L2 ‘beranas’
(3) DBKgeS (4) B0

57. Shannon's index (H) represents /
(1)  The relation between twe randomly selected individuals of the same species
in a habitat
Relative abundance of each species
robability that two randumly selected individyz
to the sane species
(4) Number uﬁbﬂ.ﬂgﬂ{' a specific trait the
PSS 508 (H) \AISErDi%es s
(1) doaoses® of av88 3=@S avdiyr 2508y Jod dahe &3

/ fSoosisn
2} 5& N , a
(3) : QFM& Essvgﬁ

Ly esge =1 085 850 g Sogrsssid
e r,_!rﬂa
(4)_~%8 mrded® @08 of oferdl Somododd sdghy Sowg

-
Rﬂf'h Work

By

(

(3) < the habitat belong |

exist within a population

26 S ‘
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58. The scientific name of Kashmiri stag is :
(1) Sus salvanius (2) Grus leucogeranus
A13)  Cervus elaphus hanglu  (4) Ailurus ochraceus
E‘%&&' >h S8, ﬁ'E:'n‘S: edioain

1) s5>EdasS @) 5 ors® 855
L3 DEE 2055 Swoie (4) QowerdS sEOHS

59. Select the animal from the examples given below which exhbits n

larval stage : .
(1) Amphiuma (2) Typhlonectes
J13) Ambystoma (4 Necturus |
& B8 aorSteed® Sog¥s¥s® QI 5H50)0d B0
(1) esoldhear (2) &25T30
A3 sobdrse (4) F%ES
e o]
60, Ductus Botalli connects : Cﬂ

(1) Two systemic arches
A2)  Pulmonary and systemic arches
(3) Systemic and carotid arteries

(4) Carotid and pulmonary arteri
G88 weerd JED HensHEood ;
(1) Bokh Biey ol
2 HHS $H6asn Jey L
(3) Bey MO 6% &
(4) 56% $0ck HHS G

V@) | Band & ¢ad
4) | |[Bretboote & ofweEtdor

1)*/

27 S
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82. The animal with epipubic bones and a chorioallontoic placenta is :

(1) Opossum rat (2) Koala bear '
J(3) Marsupial bandicoot (4) Opossum

efpHparhe HBok Soeain-wPos SR8 F068 swand DAL\ 8T /
(1) odFs5H Jes (2) 5%or oot

J3) :.S.:md:ﬁ:a:ﬁ:-di_ aﬁuﬂﬁ"‘ﬁ;& (4) o5

68. Arrange the correct sequence of enzymes which act on food in different regions
of alimentary canal :

(@) Pepsin (b) Ptyalin

(¢)  Dipeptidase (d) Carboxypeptidase

a8 TESne®t DY priSued® eFfdsnD U =80 JoBdle FHI0SH
(e oodin ¢

(@ S (b) ®OS

(e) Eﬁémaw (d) weo8y ?a;.gona“w

The correct answer is :

58 wmound sarEod

M @ @ ® @ V@ ®» @ @ ©
() a) d) e () @y @Yy VAm)y fe) o id)

84. Number of oxygen molecules bound in a saturated haemoglobin molecule :

(1) One {2) —Two

(3) Three V14) Four

a8 Sodyd baﬁﬁ:EE SESraDHE® vofosndauiy sdss SSrode
domg : e

(1) e5& (2) /Both

(3) S V4 et

685. Mitral valve is :
(1) Right atrio-ventricular valve
Wi2) Left aivio-ventricular valve
(3) Eustachian valve
(4) Spiral valve
s Forase :
(1) 508 Hioe-mp&dy Saoradsn
vi2) | Q4% o a8t Sorese
(3) | FIHSE Sresy
(4) | $58y0 Earesn

Rough Work
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66. Which of the following is an autoimmune disorder ?

(1)  Hypothyroidism (2) Acromegaly

(3) Gigantism W (4) Grave’s disease

& (Bob =06 DA Koo wIoErshger & Ho?

(1) “Frd*gocondec 2 5E5%ord

(3) e8z=ahdeo va @85 g8 %

67. Which one of the following statements is not true with reference to the genes
ic animals?
A polymerase allows the transcription of structural ge

of e
v (1)
a polycistronic m-RNA
(2) Many genes have stretches of nitrogen bases
; and are called ‘exons’
(3) Heterogenous nuclear RNA (hn RNA) is s ze
(4) The bases that do not code for amino acids \are

e 80d aﬁgqﬁgeﬁi 9 ofmsn JedosE dape Bgaphes
J(1)  RNA 205384, doyee adgde SHod 0P IE m BNA &
Hodsie sdHHs
@ iy BgPHodtd SEed o,
H8d ‘DoyS’ew (Exons) eosrd
(3) E_)Ddg B9 Hod DEH e*8an Jows RNA (hn RNA) S)G:jﬁlﬁi'r
4) eHgHes® oDs° uai:r:m/asa% o Hahn \m

@0 AP e

68. Match I?rfs:;t.elbral number and‘th region in rabbit :
(A) Cervical
(B) Thoracic .
(C) Caudal -
(D) Sacral 12 or 13
Hodey ufy Iy opgidy/ /s (STYSHE® SO edSHHED
e | whe II
(A) |fee ) 16
(B) &g (I 7
(€) (I11) 3 85 4
(D) (IV) 12 &¢ 13
The wons &8o05:
(C) (D)
(1) (IT) (I)
V' (2) (I) (I11)
3) (I11) (IV)
( - (IV) (1IN
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71. 'The inability to regulate the concentration of sodium ions in the blood could
be due to the improper functioning of one of the following : ,
(1) Adenohypophysis : It produces ACTH
\/;'.2} Adrenal cortex : It produces aldosterone
(3)  Adrenal medulla : It produces epinephrine
(4) Pars nervosa : It produces ADH
& 808 RE° «¥8 SO sodaes DSeo Sod g5 &S VebaKo SXDY
mEs Qohodes pahfiss !
1) o8S THHS 1 wd ACTH & (320
J@) obsfy Sope0: ad gﬁiauﬂﬁﬁn Do
@) oSy o888 SLBBESH | PRoHE
@) 5y S6%F 8o ADH & (82o%&
79. The Macrophages present in the liver aro called :

(1) Microglial cells (2) Histiocytes
(3) Lymphocytes J (4) Kupffer'cells
soans®y Sro of¥ Serod Doerds?

1) %0 e (2) SeRErD
(3) Do Py Jia) w56\ swre

78. A mother with blood group ‘B type }as a thild with blood group type ‘0’. Wha
is the possibility of the genotypes of that mother and father ?
The correct answer is : ' L
1) TA1® (father) and B1° (mother’

20 IMP (father) and 1318 (nother)
J@ 1O (father) and 212 (mother)
(4) P12 (father) and IAIO (mother)
‘B g5 S80 o wE 308 ‘0" o8 si%’c:afa Hoae e wéa_aia:ﬁa, e &9 a0
o8 Gy pig e Sane Deehodi?
wh o SRR
Q) 1M (8od) Sdo P10 (#9)
o) AP (So) Ho6w T (59)
JS@) T (808) 00w B (s8)
4y TPI? (808) oass I'D (#0)

' Rough Work
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74. Drumstick Barr bodies are found in :

(1)
@
J3
()

All RBC of females

All RBC of males

Some neutrophils of females
Some neutrophils of males

AM 2010 A

|GhE w8 THten & (808 86 JoME® aold :

(1)
(2)

J@

(4)

"Los®d ey I oY Fwos®
Y o8 Hared®
beod®d B°Ry SregEthé geeud®

HHDeEN oy

g

DHHeED 7Y Srgftd Swrod’

75. Match the following in Drosophila with reference to sex determination :

List 1 List T
(Ratio of X Chromosomes to (Sex)
Autosomes) X/A
(A) 05 (1} Metalemale
(B) 1.0 (2) > Metamale
(C) 156 (3)/ /Male
(D) 033 (4) Intersex
(E) 0.67 (5)\ Female
&°R°perd® Do Aodmsy GowoSed (808 K& BENHHsn
ehe A wbe 11
X F'3rtsSve HOE (Dot5n)
ef'Disos IR0 XA
(A) 0.5 (1) ﬁﬁé kT
(B) 1.0 (2) ed3Hha
() 1b (3) ag) el
(D) 0.33 (4) HSeaBoty
(E) 0.67 6)
The correct match 18 :
88 wond &%80:
; (A) (B) (C) (D) (E)
(1Y (3) (1 (2) (4) (5)
2 @) (5} (1) (2) (4)
@ L (4) (2) (5) (3)
(4) | (2) (3) (1) (4) (5)
Rough Work



76.

Statement (S) : The concept of survival of the fittest is central to natural
selection.. o
Reason (R) :  Individuals who possess advantageous characters to adapt ta
the environment have better potential for nuﬂivﬁ]ﬁmr‘
(1) Only (8) is true but not (R) GO
(2) Both (S) and (R) ‘are true but (R) is not the correct expid

/3 Both (S) and (R) are true and (R) is the correct explanati

(4)  Both (8) and (R) are not true :
agpg (S) : 558 SomESuEos “ @ igdame Dei8 IS

Sudn (R) : FeeSSarRl eiire ofe

' 3oy HESted |
(1) (8) Se@sn Red, Ry =t =
@) () Hocse (B) dusy, =R ()% (R) 5§ 250=

/@ (9 socs () Bodr dud, Sogh (8 H ®)
4) (S) Hbosn (R) Dodr dedn & Y

77. Find the frequency of heterozygotes in a
Weinberg equilibrium, if the frequencies of
0.6 and 0.4 :
268-38 of 5B (B0 - gy ofulsy DEope @
0.6 Hbas 0.4 Gy, & € asEre ToShIgos §
(1) b i ko v SEOE
J@ 0. /32
78, Haemopoietic ster T
(1) Toti i
v'(2) o
(3) =
(4) L
ﬂﬂ“?ﬁ'ﬁ!‘“mdg spla e
(1) ®6a¥8 Sere
J&| gpdtrugd Stan HEIWE EFe
@) | cerdPrwid Fwow
AN s 56 s5&m8 Swoe g




79.
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The application of Polymerase Chain Reaction is : '
(1)  to demonstrate DNA as genetic material
J(2)  to replicate specific DNA sequences at high temperatures
(3) to determine minerals in biological tissue
(4)  to replicate RNA sequences at low temperatures
F0585 585 ooy ey wHIgSsw
(1) DNA & adhgScrior (BEdjohe
V@2 o8 o@fpidess «f 28 DNA gssnd HI
3) dSSmerosvocto oSmsvo DEebohet
@) &5y &&'Eﬁﬁaﬁﬁ RNA (Feans " H8HEd
80. Match the following :
List I List
(Common Name) (Scientifi )
(I) Cat fish (A) Clarias batrachus
(II) Milk fish
(III) White shrimp
(IV)  Grey mullet
o (808 AN sSI0HWSL :
weDe I
(Regrto ovSiS®)
(I} H"gﬁ' %8
I & 28 & wv's"ﬁ
(I 36 (od 2 eﬁﬁ‘“&ﬂgﬂaﬁ OB
V) Baxds D) mgﬁs 2ares
' ) L2065 Iustaed
(F) 5H2c%f go88S
S50 mons &
(I (IV)
1 A (C) : (D)
2) (|(B) (D) (E) (A)
Vi3 | (A) (B) Q (F) (D)
(4) {B)/(DJ7 ) (A)
Ro o

35S



